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am2(200L) | 144,520 | 7,012 42| 88308 56,212 375
V=3—YRAT LA
LPG 6m2(300L) | 144,520 | 10,362 62| 59,132 85,388 592
ABREKSE | 3m*(2000) | 144,520 | 5,955 36| 92,771 51,749 384
am2(200L) | 89,466 | 7,012 42| 56,467 | 32,999 320
V—=35—YRATLA
an  |@mAR 6m2(300L) | 89,466 | 10,362 62| 38383 51,083 505
ABHEKE | 3m2(2000) | 89,466 | 5,955 36 | 57430 | 32,036 328
am?(200L) | 60,681| 7,012 42| 39,819 | 20,862 446
Y—5—YRT L
T3t 6m2(300L) | 60,681 10,362 62| 27,534 33,147 703
ABSEAE | 3m2(2000) | 60,681 5,955 36| 38,952 21,728 454
am2(2000) | 128,459 | 6,777 46 | 74,262 | 54,197 360
Y—5—YRFLA
LPG 6m2(300L) | 128,459 | 9,850 67| 47,419| 81,041 561
AB#EKE | 3m2(2000) | 128,459 | 5,786 39| 178175 | 50,285 373
am?(2000) | 79,523 | 6,777 46| 47,762 | 31,762 307
Y—S5—YRFLh
3N | #@mhz 6m2(300L) | 79,523 | 9,850 67| 31,092 | 48432 478
ABmEASE | 3m*2000) | 79,523 | 5,786 39| 48394 31,129 318
am2(200) | 53,937 | 6,777 46| 33,906 | 20,032 429
V—=5—YRAT LA
T3 6m2(300L) | 53,937 | 9,850 67| 22,555| 31,382 665
AB#EKE | 3m*(2000) | 53,937 | 5786 39| 32824 21,113 441
am?(200L) | 86,702 | 5,730 57| 41,464 | 45,238 295
V=3—YATLA
LPG 6m2(300L) | 86,702 | 7,947 80| 21,745 | 64,957 446
ABREASE | 3m*(2000) | 86,702 | 4,726 47| 45630 | 41,072 305
4m*(200L) 53,673 | 5,730 57| 27,405 | 26,268 251
Y—5—YRFLA
2N | @mAR 6m2(300L) | 53,673 | 7,947 80| 15,024 | 38,649 380
ABSEKE | 3m22000) | 53,673 | 4,726 47| 28,248 | 25426 260
am?(200L) | 36,404 | 5,730 57| 20,054 | 16,350 351
V=35—YRT L
T3 6m2(300L) | 36,404 | 7,947 80| 11,510 | 24,894 529
ABREASE | 3m*(2000) | 36,404 | 4,726 47| 19,159 | 17,245 360




